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Solve the Problems and Round Accordingly.

83.2+5.1846 =

67.1777 + 45945 + 19.726 =

56.831+17.1 =

76352+ 369 +7.33 =

2578 +4.4+9.989 =

92+41343+344729 =

6.5812-2.161

67.36 +3.5357 =

35.9+1.7629 =

5.78-4829 =

1)
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934462

56.7467 + 7.44

39.319-5.39

6.18+18.2

19.22-187

7.488-375

23224381 +5.1

7.237-533

39.6 +5.4735 + 6.66

65.647 -33.7
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Solve the Problems and Round Accordingly.

62.3%0.0085 = 1)
4080 + 62.356 = 12)
03x53 = 13)
37.383x 0.005 = 14)
477x0.039 15)
10723715 16)
2257x00067x200 = 17)
7466x0065x5060 = 18)
700579 = 19)
004x94x8000 = 20)

530038

400 x5.888

5x80x907

0.7x73x3000

6005 = 4.633

83.23 x 60 x 9000

4848x17

7005 = 14.231

100x0.077

051x7.1x7000





